AP Calculus AB
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7.2 B Volume on a Base
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Sketch the base, set-up the integral to find the following volumes, then evaluate each integral by hand

In 1 - 3, Find the volume of the solid formed w1th the given base and cross-sections
perpendicular to the x axis:
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b) Cross-Sections: Isosceles Right Triangles with one leg in the base > :
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a) Cross-Sections: Rectangle whose height is twice the base \ /
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3) Base: Region bounded by y =2+/sinx in the interval 0 < x <7 and the x-axis.
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Find the volume of the solid formed with the given base and cross-sections perpendicular to the y-axis:
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